-MWWMBS’CW@&MI&IWH
imemgabase]me Fmdthecmectlmpﬂtapelengﬂl

‘.‘. a of tape as 0.02cm?, weight of tape 8N, E=2.11 X 10 N/em?, a ﬂ
52X 10%/°C,

OR

a line between two points which are not visible to each other due
small hillock in between?

_‘F: do you understand by ranging a line? Explain how you will

T

:hb&ﬁm surveying. Explain the classification of surveying.

€1 30m chain was found to be 12¢ms too long after chaining e
~ jof 1750m. It was found to be 23cms too long at the end of day’s work
chaining a total distance of 3600m. Find the true distance if the
in was correct, before the commencement of the work. |

LIS

PART B

ﬂ]l..la the difference between prismatic and surveyors compass.

12

Co2

hIWhat 1s meant by local attraction? How it 1s detected?

L2

CO2

foéllmvmg bearings were observed with a compass. Calculate ﬂlE|
angles. Apply check.

e T e e

Line |AB B oG DE EA
FB 19°15°  [32°000 | 291°30' |199°15' |134°4%

CO2

OR

Explain temporary adjustments for prismatic compass.

Cco2

ck bearing

a) True meridian b) Magnetm meridian ¢) Fore bearing d) :

LS

The following FB and BB were observed in traversing with a compass
a ph:' mmal attraction was suspected. Compute the correct

FB BB
38°30” 219°15"
{100%5° 278°30°
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